STREET SIGN SERIES
PM-_ x_ -SQ

24” 1.D.

.

84

1”_20x 54" s.s.J—

4”x45” SIGN PROVIDED BY OTHE

4571.D.
#6-32x 3" S.S.
B PAD—24x4.5-5Q—SC| PAN HEAD ‘PHILLIPS
HEX HEAD CAP SCREWS —24x4.5-SQ— MACHINE SCREW w/
& 47-20 S.S. HEX NUT #6-32 S.S. HEX NUT
(SET OF 2) w/ TOOTH WASHER

(SET OF 6)
-f_

84

47-20x 55" s.s.J—

HEX HEAD CAP SCREWS
& 17-20 S.5. HEX NUT
(SET OF 2)

84

1”_20x 55" ssJ—

24 "/.D

42”/0
#6-32x 3" S.S.
PAN HEAD PHILLIPS
d PAD-24x4.5-3SQ

MACHINE SCREW w/
#6-32 S.S. HEX NUT
w/ TOOTH WASHER

(SET OF 6)

247I1.D. 4—|

#6-32x 3”7 S.S.
PAN HEAD PHILLIPS

HEX HEAD CAP SCREWs | Q- PM—-24x6-SQ MACHINE SCREW w/
& 47-20 S.5. HEX NUT #6—-32 S.S. HEX NUT
(SET OF 2) , 307D w,/ TOOTH WASHER
MOUNTING o | (SET OF 6)
BRACKET I
—1" = 0”x6” SIGN PROVIDED BY OTHE, 6”1.D.
BN g‘% . - ‘ #6-32x §” S.S.
1”_20x 55” S.S. PAN HEAD PHILLIPS
HEX”HEAD CAP SCREWS | [J- PM-30x6—SQ MACHINE SCREW w/
1”-20 S.S. HEX NUT #6-32 S.S. HEX NUT
(SET OF 2) 367D w/ TOOTH WASHER
. o | (SET OF 6)
l!’ 7 E2
81 71
1 7 9”1.D.
) ) #6-32x 37 S.S.
17-20x 55" S.S.” PAN HEAD PHILLIPS
& HEX HEAD CAP SCRews | [d- PM—36x9-SQ MACHINE SCREW w/
] f 1, & 37-20 S.s. HEX NUT #6-32 S.S. HEX NUT
=3 (SET OF 2) w/ TOOTH WASHER
SCALE:NTS (SET OF 6)
FRAME SIZE SCROLL COLOR OF POWDER COAT FINISH
O 24'x4.5" 0 30'x4.5" 0 30"x6" o Q WITH [m} (BLK) BLACK (m] (HG) HAND BRUSHED GREEN
(] (BRZ) BRONZE a (HR) HAND BRUSHED GRAY
0 24'x6" 0 30"'x6" 0 36'x9" 0 WITHOUT 0O (GRN) GREEN O cusToM

Catalog Name:PM— Date:02.15.18 %

e N
\H R 2 1A\
Revision History:N/A Revision # 0 ‘ ‘ ‘

NILAND COMPANY o PH: (915) 779-1405 o FAX: (915) 779-3618 o E-MAIL: INFOGNILANDCO.COM
320 N. Clark EI Paso, Tx 79905 ¢ PH: 800-648-9013 e FAX: 888-779-3065 e WEB PAGE: HTTP: //www.nilondco.com

Niland Approval:Luis M.Gomez Customer Approval: Page: 5 of S




